SUMMATIVE ASSESSMENT -1 (2011)

Hapfora wer—I 470025
SCIENCE / fasm
Class — IX / ShaIT— IX
Time allowed: 3 hours Maximum Marks: 90
fFeiRa w9 : 3 "ve SfHTH 3F : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(i)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

e ey
(i) 9 U U I Q1 9T, FT 31 IR 91T § § giel 77 2| MU SF1 AR & Ul & Sk
fora £ |

(i)  =ft g arfvant g

(i) T U 939 R DS T99 UG el © W Ya—did Dl & dfa gt # Aok == &
2| 37 Ul # 37T Hacd b W™l ad9 Bl Ik folkdd & oy g9 Fahd & |

(iv) ST ¥FT o iR 9FT 9 & 9l el & Sk JIH—9Ud foras 8 |

(V) 9T T & U &1 1 9 3 & U Uh—Udh 3d & & | 399 Sk Udh I 31al U arag H
< |
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(vi) HIT 3 & U AT 4 W 7 & U TI—al 3Bl & & | 377 IR AT 30—30 Ueal H o 7 |

(vii) T 31 & U3 T 8 | 19 & U TIF—| 3Pl & B | I IR o THT 5050 Il H <A
g |

(viii) 1T &1 & U AT 20 W 24 B YT UMA-UMT b B & | P SN ATHIT 70 &I H o § |

(ix) 9N 9 & Ued AT 25 H 42 & U YANHG DI WR ARG dgfddhedl Ie © | IAD
U U 3id BT & | Ry T IR RAaedl § 9 D! SHad Toh G99 STYTd [ddmed =1 2 |

Section A

1. How does spreading of wet clothes quickens their drying ? Explain.

Tt hISl i et STa 9 3k Y@ 1 THA Hy A 81 a1 ¢ 7 TR

2.  Name the factor on which the inertia of a body depends ?

39 SR 1 W fafEy forg R et axg &1 e FR o g1

3. Name the process in which diffusion takes place through a selective permeable membrane.

9 Yok w1 T ferfay fas goricren arore foeelt o SAR-9R foremor g € |

4. Explain dispersed phase and dispersing medium in relation to colloidal solution.

TS faeta & Geie § aRfara yraeen qom IRaqor J1eay T8 shifsy |

5. Differentiate between ‘G’ and ‘g’ in tabular form.

‘G’ A1 ’g’ o o= TRl & €9 H fI9T shifs |

6. Preetha was observing live cells of Onion in the Biology laboratory and she observed cell
wall, cytoplasm and nucleus clearly. Suddenly her friend who was doing chemistry
experiment spilled a few drops of salt water on the slide. After some time Preetha
observed the slide and found some changes.

(@) What would have been the change in the live cells of onion peel after adding
salt water ?

(b) Name the type of process.

Hien A St fom gArmenen § st 1 faeell o1 Sifera siferristi 1 9aor wed g ifren fafq,
HITTHT T qAT Feh T AR [hAT| TS W IUh! Teh TG i I T AN T &l oft
3IY FS T9h %k I H Fo TS W AR TE | FS 999 T4 59 Wl A TS Hl STaclchd fhal
@ $® TRadA 9 T |

(a) THE o UM Y @S i Trecl i Siferd hifkmersii § R 9o s g ?
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10.

11.

12.

(b) 9 Ushan 1 I ek hifSTT |

(@) State two important functions of areolar tissue.

(b) Why are skeletal muscles known as striated muscles ?
(b) ekl AT o1 YRaa et =T e S §
() TRSARR sk o 3 g& % fafaw

Give reason :
(@) Steam produces more severe burns as compared to boiling water.

(b) Temperature of a liquid does not change when it boils.
FHR T HIWT :
(a) ST GU SIS ! STULT 919§ Afereh STet 3cue erct § |

(b) 3 §HF FF I AT R T L |

State any two points of difference between chemical change and physical change. Which
of the following is a chemical change - rusting of iron or mixing iron filings and sulphur

powder ?

Aifqer aferds qen Tamfte afteds § o8 < o fafey) = fou e d § o vEEtes afedy @
~ I H S T AT G o 0T Bl Hew usel H e ?

Ali while driving to School, computes the average speed for his trip to be 20 km/h. On his
return trip along the same route there is less traffic and the average speed is
30 km/h. What is the average speed for Ali’s trip ?

3Tt TS Tt Thel SH B 119d =16l 20 km/h T@ T1@1 € 1 39 T 9 dled 9w offie %7 81 &
HROT STEd =1 30 km/h & ST | 3Tl i 36 G 9131 i 3T9a 1t qRefad wifsg ?

A bullet of mass 10 g is fired with a velocity of 400 m/s from a gun of mass 4 kg. What is the
recoil velocity of the gun ?

10 g T T TIei! 4 kg 1 Th 9geh 9 400 m/s o1 © SIS ST § | ek T FTqardor o1 31 ST 2

What is weight ? State the direction in which it acts. Write an expression for it. Is the weight of

an object same on the earth and the moon ? Why ?

gR 7§ 7 39kt faun fafegu foad 98 v wtar ® | 59 v of fafauw) s fadt faue 1 9r
geal TR <gHT W THM S ¥ 2 Fii 2
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13.

14,

15.

16.

17.

18.

19.

20.

A stone of mass 1 kg is thrown with a velocity 20 m/s across the frozen surface of a lake and
comes to rest after travelling a distance of 50 m. What is the force of friction between the stone
and ice ?

1 kg TAM & T T2k &I 20 m/s & o1 3 forelt siat & <17 ¢ %5 TR el ST 8 1 9eeR 50 m
T T B & A Tk S | TeeR AR ok & e fehan = o 72

State Newton’s universal law of gravitation and write an expression for it. Also show that

acceleration due to gravity of an object is independent of its mass.

<[ I TEcAThu 1 FrEies a9 fafen oik sae g7 o fafaw) o7 «f <eriee fF Tecta @
foeht fave &% gomm 9 w67 B

Draw a diagram of muscle. Label on it (i) nucleus (ii) spindle shaped muscle cell striated. List

any two characteristics of this muscle.
Yaa Teht 1 fo Eifaw) 39 W (i) =, (i) ol THifed w1 8 9 & fR=l < el @@t

G SR |

List any six characteristics of parenchyma tissue.

ThIEHT Sk o fordl ©: @& bt = ST

Why are lysosomes known as suicide bags ?

ATSHIE i AT it o] shel STl & ?

Define hybridization in agriculture. List its any two advantages.
Fft H dartor i ulum fafaw) sa fof=d 1 7ol o6t =t aFme )

What are weeds ? How do they harm the crop ? Write two methods of weed control.

TRIGAR T8 ? A I B T TR g1 gl € 2 Wuaar i Ffm w1 &1 < fafmt
fafea |

(@)  Define solution. A solution is prepared by dissolving 15 g of NaCl in 200 g of H,O.

What is the mass by mass percentage of NaCl in this solution ?
(b) Why is it not possible to distinguish the particles of the solute from those of solvent

in a true solution ?
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21.

©)

(@)

What is the effect of temperature on the solubility of a solid in a liquid ?

forer =l aRf IS | ST 15 g NaCl %1 200 g STa § Hliereh forera T foram S
g, @ NaCl I 2= Hawraan aRefer it |

ardfaes faaa @ facia & ol & faveT w i e wE 82
g H ey ¥ fhet 3/ i g B Semsierd W a1 T 9Sdl § 2

OR
Define an element.

Name a non-metallic element found in (i) liquid, (ii) gaseous state

Pick metalloid from the following :

carbon, silicon, phosphorus, gold.

Which two properties of metals enable us to get the desired shape to metals.

Name a metal which is liquid at room temperature.

e okl aRyT fafay |

() &, (i) T TR H 9T S ARl S7uT a o A fare |
frefafea o suang ife

e, fafeei, wemRy, e |

HgeT & A <10 ShF G © TR hRn g1 ergstl 1 wifed smefa 3d €2

34 u1g 1 T fafae S e a9 ) ga T

Define matter. Name the state of matter in which the forces between the
constituent particles are

(i) Strongest,
(ii) Weakest.

Give reasons for the following :
(i)  Aliquid generally flows easily.

(ii) Ice at 0°C appears colder to the mouth than water at 0°C. Why ?
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22.

(iif) Doctors advise to put strips of wet cloth on the forehead of a person having

(@)

©)

high temperature.

Teref ol aftam fafee | yered &1 39 o1ewen o1 A fafau S99 yeref & tege) ol &
& & 9

() Y veA
(i) Fo¥ TIA B
frfafea & fag R fafe .

(i) T §9 ST 9 Wefed &1 9 © |
(ii) 0°C % &1 bt F&T H 0°C T 1tk Hg ol ek et e &1 =i ?

(ifi) SRR 3= a9 ¥ difed WM F A W Mot FUS H U W@ FI FAR < |

OR
Why does the water kept in an earthen pot become cool in summer.

Draw a well labelled diagram showing sublimation of camphor.

Convert : 340 K to degree Celsius.

i & o2 o st Se1 i @ S g ?

YLk FEEIR ! <A T Toh = Tor ST hifsg |
340 K Q99 i ° C H ®Uidd hifS |

State Newton's first law of motion.
When a carpet is beaten with a stick, dust particles come out of it. Why ?

A hammer of mass 500 g, moving at 50 m/s, strikes a nail. The hammer stops in a very
short time of 0.01s. What is the force exerted by the hammer on the nail ?

=2 k1 TTd 1 gH T fofay |
el 1 T H Wi W gal F H T § TR S W § | 2

50 m/s %! =& § TAHE 500 TH GHM 1 12 ger fhdl diat 9 i &1 goer 0.01s #
Tk ST & | 8IS G shict W TR oIet 1 § 2

OR
State the law of conservation of momentum.

“During collision of two balls total momentum of the system remains unchanged”.
Justify this statement mathematically.

Why does a gun recoil when a bullet is fired from it ? Explain.
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(a)  HoT % HX&Tu k1 e fafan

(b) ‘<1 e HY zaRL kT erafy § FIRE B Fo Fam Gerd war §'' - 39 kA w1 gy i
w9 § ity |

() Tcl B 9H W o<k | wfaarur i 21 €7 Tg Hifee |

23. (a) Derive the equation of motion v =u + at, using graphical method.

(b) A train starting from rest attains a velocity of 72 km/h in 5 minutes. Assuming that
the acceleration is uniform, find the

(i)  acceleration

(ii) distance travelled by the train for attaining this velocity.

(a)  UT% G TTid <A1 FHIHTUT v = u + at Il IS |

(b) T XM formmaEen & =ereRi 5 faee § 72 kmh —1 1 91 et 3t ® | AfE &9 9% 9

o for YTt o1 Rl ThEEH, ® @ A0 SIS

(i ™

(ii) I A I KA & feIq Termel gR1 aF ki 6 g |
OR

The distance - time graph of two trains are given below. The trains start simultaneously

in the same direction.

Y
A 4
200+ B
'g 150------------------Q,
5| :
5 i
= 100 ===-=-=---*---iR
A i
501 s
: iS : »X
0 1 2 3
time (h)
(i) How much ahead of A is B when the motion starts ?
(i) Whatis the speed of B ?
(iii) When and where will A catch B ?
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(iv) What is the difference between the speeds of A and B ?

(v)  Isthe speed of both the trains uniform or non uniform ? Justify your answer.

< Yermtedt 1 g-99a U A fean T §, Yemtedr T e Uk g faen # mfd SRy st €

Y
A A
200+ B
/é\ 150' -------------- _Q.
P :
% 100' memesamens "--";R
50+
: iS t » X
0 1 2 3
9 (SE W)

T ST X THT LTS B et A 9 foramt o1 72

—~
[
~

(i) B =T FME?
(iii) e AT HET A, B B UHS T ?
(iv) A TUIB i =1eT § T SR B ?

(v) oI M1 Xermied! st =e THEHH © 91 STHEH ? 379 I® &t gfe Hifs)

(@) What are weeds ? Give two examples.
(b) Why should weeds be removed from cultivated fields ?

(c) List five preventive methods that help in weed control.
(a) TUGER FME? T ST T |
(b) TRUGER S FF Y ¥ TR Fil SATwTH © ?

() UHAT o S U qLhi ohi Yo BT, S TRIGAR I T 1 H T 8 2 |
OR

(@) State three ways in which insect pests attack plants and thus affect the health of the
crop and reduce yield.
(b) List two preventive measures that are used before grains are stored for future use ?

~ N

() 3 T YHRI FI 0@ FHIFTT 7 gRT hte-diesh Wil T ST Fleh HHA hl B
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25.

26.

27.

FA & TN FHA SIS HH B ST & |

(b) 31 <1 e 3 frer fafeEi o6t =t s S ST vfas & fau e e svery 9

3ih el TR ST |

Section B
A student mixed egg albumin in water and found the resulting solution to be :
(@) clear and transparent
(b) opaque
(c) translucent

(d) such that the egg albumin does not mix but settles down at the bottom.

e foeneff 7 3 & TeofHa (37 ol Thal) o1 Sia1 § e qen Rt foeras =i b

(a) T qUT RS
(b) STIRERA
(c) URVEH

(d) o o ot i wind et i T S otfg et § S S 2

Raman mixes chalk powder in water and then filters it. The filtrate collected will be :
(@) clear (b) translucent
() coloured (d) thick and dark
T e TISeX 1 S H HfHd a8, TR a1 © | gehgl foha T fredg 2
(a) TR (b) RV
© @M (d) T AT TEX T H
When a mixture of iron filings and sulphur powder is heated, it is seen that :
(@) iron filings starts melting first.
(b) sulphur starts melting first.

(c) both iron filing and sulphur melts together.

(d) nothing happens initially and after some time the mixture becomes red hot.
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28.

29.

STel g Ul o Tiersh UISel % fgr st T R S €, Yaro it WAg SEd € R
(a) TE BT e |
(b) TE Tiereh TEre T
(c) TIE 901 9 geh QT wrg-Hre fererd €
d) TR FB TE A W FS THA A THAV A T B STl B

On placing a iron nail in a beaker containing CuSO, solution, Sudha observed that the colour of

the solution starts changing from blue to green and the nail gets coated with a material which

is:
(a) soft and black (b) grey and hard
() reddish brown (d) smooth and shiny

CuSO, foe@ ¥ W Tt # o &1 & SN W F© T & W= a1 1 98 Y& Tk T
forere =1 31 et § TR B0 8H RN ¢ 31X e R T WA o W e 1 ©

(a) A R e (b) Y 3R TSR

© T d) o SR et

At room temperature a student sets up an apparatus to determine the melting point of
ice. He takes a beaker half filled with crushed ice and dips a mercury thermometer in it.

After this he would observe that :

(@) mercury in the thermometer keeps on falling till it reads — 1°C, it remains
constant thereafter.
(b) temperature falls, reaches 0° C and remains constant only as long as both ice and water

are present in it.

() the temperature falls, reaches 0° C and remains constant even after the whole of ice has
melted.

(d) the temperature falls at the starting, but starts rising as soon as the ice starts
melting.

FH F 19 W RIE D S HT Teih A0 F & (0 SURT AL T &1 I8 Fet 5t F e
T ST TR STH TRG-FHIHIET Gl ¢ | $Heh TN 98 I8 Y& i foh -
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30.

31.

32.

(a) ¥R H IR I q@ —1°C 9 FRAT & 3R $Hk qvarq ad &1 e 7|

(b) a9 fiRar g, 0°C Tk U=l § IR st H Sat qen ok 1 o @A ae & frad W R
() a9 fira g, 0°C dek vg=l 2 3R I o & faerer & gvanq off fraa war 2

(d) T H q fRar § WReg I 1 T AR B € g Tl ¢

A student sets up an apparatus for determining the boiling point of water. He records the
temperature after regular intervals and finds that the temperature of water when it begins to

boil :

(@) remains constant.

(b) continuously rises.

() first rises and then becomes constant.
(d) first remains constant and then rises.

HIE B, el H1 FAYAIH A H o T SUR HaAferd a1 &1 o FHafia swael ® a e
AT B IR IE I § R 59 S I I 8 @ IR 919

@) frEaw@

(b) TR IE@ R

()  ¥ed seal § fiRt e &1 S g )

(d) e Faa @@ e R R o a2 |

The most appropriate tool for getting scrapings from the inner lining of cheek is :
(@) Forceps (b)  Scalpel

(c)  Finger nails (d) Tooth pick

FHUIet 1 Fil TR ¥ GEF W H FH G 31w 3Tga 9K ¢

(@) fomed (b) R (Fhead)

() el & g (d) e (29 fr)

A student by mistake mixed iron filings and sulphur powder. He wanted to separate
them from each other. The method you would advise him to use is to dissolve the

mixture in
(@) boiling water (b) cold water
(c)  carbon disulphide (d) kerosene
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33.

34.

Teh foenefl 7 T ¥ % W ad1 Gow qeel i el fean | o1& 9% Sl ohl U T | STeR
AT el & | AT R Y T8 fafy % STER 9 fagor 1 sen ¢

(a) o gC T H (b) S OF

() e SEETHEE d) HEHHH

When we add 5 mL barium chloride solution to 5 mL sodium sulphate solution in a beaker we

immediately observe that the reaction mixture :
(@) turns blue (b) forms a white precipitate

() forms a yellow precipitate (d) turns red

5o g1 fondl se | 5 mL e Tothe faeem de 358 5 mL 9Raw warEs faaaq faaa € 9o
T T & T U € b sifufsran fasgor .

(@) e g S § (b) T STIYT T &
(c)  dicH 7o S § (d) S SR

Out of the four figures A, B, C and D in the given diagram, the figure representing onion
peelis :

R 4

{B]
@ A (b) B
© C d) D

few 7o fosr ¥ =R} el A, B, C 91 D § &S st fefeed] skl fefyd o arer 1@ © -
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35. A student recorded the mass of dry raisins as 8 g and the mass of raisins after soaking as 14 g.
The percentage of water absorbed by raisin is -
(a) 20 % (b) 10 % (c) 75 % (d)  40%

T foened 3 @ foreifiel w1 gmE 8 g A iR urt § fiH % a1 3R SA9H 14 g W11 39
TR W feRsTien o GRT ST STt ot Wfcsran e -

@  20% b)  10% © 5% d) 40 %

36. Human cheek cells stained in methylene blue and mounted in glycerine were observed with the

help of a compound microscope. The components of the cell which would be seen are :
(A)  Cell wall, cytoplasm, nucleus

(B) Plasma membrane, cytoplasm, nucleus

© Plasma membrane, cytoplasm, nucleus, mitochondria

(D)  Cell wall, plasma membrane, cytoplasm, nucleus

Afery =g @ Afifea o fraeds & ARIfYa wa sl SRIfRThisT &1 Yei0r Sgaa gaaasi i
e § foran T | IR W S 9T ST €

(A)  Rif¥reRT T4, iR, Fsh
(B)  wiem foreett, wif¥tenee, e
(C) i Tereetl, SRIfThTEed, Fseh, AIESIhIT-gaT

(D) hifererr fufa, wiemn foeet, Hifverse, F=e
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37. Rama took 2 mL of food extract in a test tube and added few drops of conc. HCI to it.
She observed magenta colour in the test tube which indicates the presence of :
(@) metanil yellow in food extract. (b) turmeric powder in food extract.

(c) argemone oil in food extract. (d) malachite in food extract.

T J Teh @ H 2 mLL @ 9t <l F=ie fora de1 S6° 9% HCI il %9 §g Sl | 364
@A # #sier 1 w1 Yagor foha sifer 11 ot Saferfa o1 = ©

(a) wr frere  gefa aen (b) @ freEre # gt =l
() @ e ¥ eTsiEE da d) @ feEe ¥ doeke
38.  Some lodine solution by mistake spilled on a white handkerchief as well as on a

yellow coloured shirt. The stain on the handkerchief was yellowish brown while that on the
shirt was blue - black. It can be inferred that :

(@) the shirt had absorbed some detergent during washing.
(b) the shirt was starched after washing.
(c) the handkerchief was starched but not the shirt.

(d) the shirt was dyed with metanil yellow.

F9 AR oo™ o § Th Tod ®HA W o |19 & Teh el T o FHS AR T/ S5 ®
HfealT TIeAT- ST o1 STaifeh SRl T AIG-hIel o1 | 59 98 ot fhar s wehar € o

(a) HHISI T YA &k GHE FH HAUHSIS TG L feran o1
(b) THHIST I AT o TLAR] HelH TR ITT o |

(C) THIA Sl Hhelh AT T o1 T HHIS 1 T2 |

(d) HHIS F B Felt grr ST fopa o o)

39. The outermost layer in an onion cell as observed in the temporary mount of an onion peel is —
(@) plasma membrane (b) cellulose
() cell wall (d) cytoplasm

forelt =t it foreett o TRl STRMOT 1 Ja1or e W fireran © T =Tt &t hif¥rert w0t smgaad

Tag e
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(@) e faeett (b) G
()  iftre fufa (d)  GEewsH (IR g=)

40. A student was shown two slides of plant tissue and was asked to identify the slide of
sclerenchyma. The correct identifying feature given by the student is :

(@) Spherical thin walled cells
(b) Polygonal cells with conspicuous nucleus
() Elongated cells with thick walls and no nucleus

(d) All of the above

T Taenef =l UIey Sdeh &l g1 TS fGETE T8 97 378 9 WRAThEHl i T3S 989 o (AT el
o1 faenedt g fau U O vgeH & A0 ¥

(@) T vaet fHfd i IR
(b) TSI HIRTERE T T Fsh
() =it HIfH, Hiel SE qe S 6

(d) WU e

41. A student recorded the mass of dry raisins as 5g and the mass of raisins after soaking in
water as 8g . While performing the above experiment. The percentage of water absorbed by

raisin is :

@ 20% b)  30% ©  60% (d)  40%
T foenefl 7 9 6 5g g@ Rt S geadm fiRiH & 918 8g &1 ST 81 36 WM # fRufhe &
SR STeRNfo T skt fcrrear ©

@ 20% (b)  30% €  60% (d)  40%

42. A student was asked to write the characteristic feature of a nerve cell after viewing it under the
microscope. The Correct feature will be :

(@) Oval cells with lobed nucleus

(b) Spindle shaped cells with bands

(c) Loosely packed cells floating in matrix
(d) A cell body with branched cytoplasmic extensions at one end and a long projection
at the other end.
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we fomnefi <l dfsrerr iR (FF) 1 gaAelt & = sTEciifhd T h 9T SHeh Hel &t
fere & forq et a1 w@t e 2

(a)  SIUSTRR FHIRTHIT T4 WS Fell ol heseh

(b) e wfed adE i

() STl H O g8 U Had iR |

(d) T T O RIfeRERTE & WY SiEl S dre gAY qen T fE W T o gae |
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